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service timestanps debug uptinme
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no service password-encryption
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host nane Routerl
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|

enabl e password cisco
!

p subnet-zero

interface EthernetO
ip address 10.1.0.1 255.255.255.0
no keepalive
!
interface Serial0
i p address 10.0.0.1 255. 255.255.0
encapsul ation ppp
!
ip classless
ip route 10.2.0.0 255.255.255.0 10.0.0.2
ip http server
!
1
line con O
line aux O
line vty 0 4
no |ogin
!
end

2t E 2

service tinestanps debug uptine
service tinestanps |og uptine

no service password-encryption
!
host nane Rout er2
!
enabl e password cisco
!
p subnet-zero

interface EthernetO

ip address 10.2.0.1 255. 255.255.0

no keepalive

]

interface SerialO

i p address 10.0.0.2 255. 255.255.0
encapsul ati on ppp

no fair-queue

clock rate 64000

]

ip classless

ip route 10.1.0.0 255.255.255.0 10.0.0.1
ip http server

]
]
line con O
line aux 0
line vty 0 4
no |ogin

]
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U show BHL £3 QIHIZE|H £ oM X[MEI=H(SHE T2EH, 0| ES AHE 5t show &H

3 Zo| EA AR B = sl

. Aol al 23 £ E £0152{™ show controllers W2 AdSHL|CHCIS 2 show

controllers &0 I E3Lch

Rout er 1#show controllers serial 0 | i V.35
buffer size 1524 HD unit 0, V.35 DTE cable
Rout er 1#

. show interfaces serial 0 @& & A&35tod IiZl0o| M& L fSAME|=X| =HQIFLICH , ,5 s
. A= ME5tol CHEr XEMIEH LI 2 prp  .CFH2 2 show interfaces serial 0 H&30| £24¢]

L—| Ct.
Rout er 1#show interfaces serial 0
SerialO is up, line protocol is up

Har dware i s HD64570

Internet address is 10.0.0.1/24

MIU 1500 bytes, BW 1544 Kbit, DLY 20000 usec,
reliability 255/255, txload 1/255, rxload 1/255

Encapsulation PPP, | oopback not set

Keepal i ve set (10 sec)

LCP Open

Open: | PCP, CDPCP

Last input 00:00: 00, output 00:00:00, output hang never

Last clearing of "show interface" counters 00:07:53

I nput queue: 0/75/0/0 (sizel/ max/drops/flushes); Total output drops: O

Queuei ng strategy: weighted fair

Qut put queue: 0/1000/64/0 (sizel/max total/threshol d/ drops)
Conversations 0/5/256 (active/ max active/max total)
Reserved Conversations 0/0 (allocated/ max all ocated)
Avai | abl e Bandw dth 1158 kil obits/sec

5 minute input rate 2000 bits/sec, 2 packets/sec

5 minute output rate 2000 bits/sec, 2 packets/sec
155 packets input, 55066 bytes, 0 no buffer
Recei ved 0 broadcasts, 0 runts, O giants, O throttles
O input errors, 0 CRC, O frame, O overrun, O ignored, 0O abort
168 packets output, 60037 bytes, 0 underruns
0 output errors, 0 collisions, O interface resets
0 output buffer failures, 0 output buffers swapped out
0 carrier transitions
DCD=up DSR=up DTR=up RTS=up CTS=up

Rout er 1#

- IP &4 10.2.0.12 AF835104 10.2.0.201| CHEt pingS M 4Ad624™ ping HHS AE 4+ AUsL
ChCHE 2 ping BE 9| &3 lLCt.

Rout er 1#ping

Protocol [ip]:

Target | P address: 10.2.0.1

Repeat count [5]:

Dat agram si ze [ 100]:

Ti meout in seconds [2]:

Ext ended conmands [n]: vy

Source address or interface: 10.1.0.1
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Type of service [0]:

Set DF bit in IP header? [no]:

Validate reply data? [no]:

Data pattern [ OXABCD]:

Loose, Strict, Record, Tinestanp, Verbose[none]:

Sweep range of sizes [n]:

Type escape sequence to abort.

Sendi ng 5, 100-byte |ICMP Echos to 10.2.0.1, tineout is 2 seconds: Packet sent with a source
address of 10.1.0.1 !t!!11!

Success rate is 100 percent (5/5), round-trip min/avg/ max = 32/32/32 nms Router 1#
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. show controllers - Z0|E1} 23 ST & E A|ELICH
- show interfaces serial 0 - T{Z!0| M& L Al =X| = QlgL|Ct.
. ping - C|HIO|A 9| A E EHIAESH= O AF&EILIC.
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